
qm=;=
j*f 

g+=
k"jf{wf/ ljsf; tkm{ jh]^ /sd k|lt;tdf

;*s

1 1 8f¤8fs6]/L af6 s';'08] ;Dd df]6/ af6f] dd{t 500,000.00

2 1

w/dkfgL b]vL eGHofª 5]8f x'b} /f]Nkf bfª hf]8\g] df]6/ af6f] dd{t 

cfof]hgf 
500,000.00

3 1

:ju{åf/L w/dkfgL b]vL eGHofª 5]8f x'b} /f]Nkf bfª hf]8g] 

df]6/jf6f] dd{t cfof]hgf 
500,000.00

4 1 s'dnf6f/ sf]lrjfª x'b} nvg6f/L hf]8\g] df]6/jf6f] dd{t 500,000.00

hDdf 2,000,000.00 4.37

1 2 dfnf/fgL df]^/ jf^f] lgdf{)f 1,100,000.00

2 2 wgjfª s[lif ;*s lgdf{)f 1,000,000.00

3 2 lnAhf df]^/jf^f] dd{t tyf lj:tf/ 500,000.00

4 2 afhd sfkmn*f* em"/jfª df]^/ jf^f] lgdf{)f 350,000.00

5 2 wgjfª df]^/jf^f] dd{t 330,000.00

6 2 w/dkfgL j;kfs{ lgdf{)f 300,000.00

7 2 l;lk{ u}/f df]^/ jf^f] lgdf{)f 250,000.00

8 2 xfDhf df]^/ jf^f] lgdf{)f 200,000.00

9 2 gof¤¤¤ufp df]^/ jf^f] lgdf{)f 200,000.00

10 2 hf]uLdf/f df]^/ jf^f] lgdf{)f 100,000.00

11 2 jfOg]^f df]=jf= lgdf{)f 50,000.00

12 2 Ko"&fg :ju{åf/L Ps]*]dL hfg] uf]/]^f]jf^f] lgdf{)f 50,000.00

hDdf 4,430,000.00 9.67

1 3

lsdLrf}/ sf]6 g]jf/] jt{g x'b} :ju{åf/L vfn xfDhf hf]8\g] df]6/ 

jf6f] qmdfut le+u[–*
2,000,000.00

2 3

 wd{zfnf–9f8:s"n,bfªhf]dfª–h]d'/kf6f hf]8g] df]6/ jf6f] gfnf 

lgdf{0f tyf u|fe]lnË 
1,050,000.00

3 3

eflqmjfª b]vL ufjwf/f jt{g x'b} vfnf hf]8\g] df]6/ jf6f]  lgd{f0f -

;fljs le+u[, *_
500,000.00

4 3 ;f+]8 jnfª x+'b} gf}lj;] hf]8\g] df]6/jf6f] 500,000.00

5 3

vf]nfvs{ 8f8fvs{ /fsfjfª uf]ugkfgL x'b} le+u[sf]6 cfkrff}/ 

hf]8\g] df]6/ jf6f] -;fljsle+u[–! / ^ qmdfut_
450,000.00

6 3

x'nfs b]vL /ftfdf6f,t];|f] 6f]n ;Dd / x'nfs b]vL vf]/kf6f ;Dd 

df]6/ jf6f]  lgdf{0f -;fljs le+u[–$_
300,000.00

7 3

 wd{zfnf–e;d/f–s'jfvf]nf–h]d'/kf6f hf]8\g] df]6/ jf6f] gfnf 

lgdf{0f tyf u|fe]lnË 
200,000.00

8 3 bfemsf]6 df]6/ jf6f] lgdf{0f j8f g+= % 100,000.00

hDdf 5,100,000.00 11.13

1 4 uf]l&jfª x"b} le+u[sf]^ vf^("+uf df]^/ jf^f] 1,000,000.00

2 4
e"d]yfg v*syfg sf]^ x"b} :ju{åf/L hfg] df]^/ jf^f] lgdf{)f 600,000.00

3 4 jf#vf]/ / :ofn b"nf df]^/ jf^f] lgdf{)f 400,000.00

:ju{åf/L gu/kflnsf 
of]hgf tyf sfo{qmdx?

cf=j 074.075



4 4 lhd"/kf^f b]lv (*\ofg hf]*g] df]^/ jf^f] dd{t 250,000.00

5 4 jflemk"/ v]nd}bfg hfg] df]^/ jf^f] lgdf{)f 40,000.00

hDdf 2,290,000.00 5.00

1 5

cd/]7f6L ch'{g] 6]/L, bdf/, vf]nfv]t, ;/f}hf, psfnf]k]bL, 

8fkm]wf/f,cfkwf/f,x'b} 8f8fufp  df]6/ jf6f] lgdf{0f 
1,000,000.00

2 5
b'uf{bf; emf]n :oflgn]v l;:g]/L x'b} ;fpg]kfgL s[lif ;8s lgdf{0f 900,000.00

3 5

:jf:Yo rf}sL sf]nDkf –sf]nDkf df=lj= :jf:Yo rf}sL df]6/ jf6f] 

lgdf{0f
550,000.00

4 5 sf]63/,df}jf/L,;f/Lsf]6,:oflgn]v df]6/ jf6f] lgdf{0f 550,000.00

5 5 ;f/L Sjf8L df]6/ jf6f] ;f/L v08 dd{t 300,000.00

6 5 l;:g]/L 5]8f 38]/L vf]nf df]6/ jf6f] lgdf0f{ 250,000.00

7 5 lhDdfn6f]n t';f/]wf/f sf]63/ jf6f] lgdf0f{ 100,000.00

hDdf 3,650,000.00 7.97

1 6 wgrf}/, ltldn], wfGfwf/f bg]{^f df]^/ af^f] lgdf{)f 1 3,000,000.00

2 6

a]naf; 4 l;$yfg b]lv afx"g kflg, /fNkf, *f*fvs{, 

wlgvs{ x"b} ;fljs a]naf; 1 sNn]/L hf]*\g] df]^/ af^f] 

lgdf{)f

2,500,000.00

3 6
;f]q] tfkf a]naf; yfkfvs{ x"b} c/]; hf]*\g] df]^/ af^f] 

lgdf{)f  
2,400,000.00

4 6 v}/]gL b]lv vGg]vf]nf hf]*\g] df]^/ af^f] lgdf{)f 1,000,000.00

5 6
rf]vlgrf}/ jf ldng rf]s b]lv lgªnf x"b} bg]{^f hf]*g] 

df]^/ af^f] lgdf{)f
800,000.00

6 6
a]naf; 4 l;$yfg b]lv v}/]lg hf]*\g] df]^/ af^f] lgdf{)f 4 400,000.00

7 6
&"Nwf/f x"b} hg;Dks{ k|f=la= ltldn] hf]*\g] df]^/ af^f] 

lgdf{)f
400,000.00

8 6
o; gu/kflnsf j*f g+= 6 sf] ^|ofs vf]lnPsf] af^f] dd{t 112,500.00

9 6
em"kfsf]^ k|f=la= b]lv ;fnfafª esf/ hfg] uf]/]^f] af^f] dd{t 30,000.00

hDdf 10,642,500.00 23.23

1 7
tfkf tfkfsf]^ !fgk|sfz lg=df=la= x"b} cf]/nf hf]*g] df]^/ 

af^f] lgdf{)f 9
2,100,000.00

2 7
a]lna[h b]lv a]naf; hfg] af^f]sf] ;flgcfk ;Dd gfnf 

lgd{f)f
800,000.00

3 7
gu/kflnsf j*f g+= 7 sf] ^«¬ofs vf]lnPsf] af^f] dd{t 700,000.00

4 7
vf]NrL b]lv dflyNnf] af^f] ;Dd hf]*\g] df]^/ af^f] lgdf{)f 600,000.00

5 7
:ju{åf/L gu/ kflnsf j*f g+ 7 tfkf b]lv s]k hf]*\g] 

df]^/ af^f] lgdf{)f
553,000.00

6 7
k"/fgf] uf=la=;= eag b]lv vf/vf]nf ;Dd df]^/ af^f]sf] 

gof ^«ofs lgdf{)f
500,000.00

7 7 ;ftla;] b]lv ltNs]lg hf]*\g] df]^/ af^f] lgdf{)f 200,000.00

8 7
e)*f/L ^f]nf x"b} a]naf; df=la= af^ af#vf]/ ;Dd df]^/ 

af^f] ;"wf/ 
150,000.00

9 7 ;f]q] x]=kf]= d"lgsf] af^f] dd{t 100,000.00

10 7
/flg^f/ e";fn ^f]n af^ uf]tfd] ^f]n emg]{ uf]/]^f] af^f]df 

l;+l( lgdf{)f 6
60,000.00



11 7 ;fls{ ^f]nf d"lgsf] uf]/]^f] af^f] dd{t 50,000.00

12 7
cf/gkf^f /flg^f/ b]lv a]njf; df=la ;Ddsf] uf]/]^f] af^f] 

lgdf{)f
40,000.00

13 7
tfkf x"b} afx"g^f]nf hfg] df]^/ af^f] dd{t tyf hfln 

nufpg]
20,000.00

hDdf 5,873,000.00 12.82

1 8 g'g]kfgL ;}gLg]6f x'nfs ;8s 1,100,000.00

2 8 x'nfs wGfrf}/ u?Dk 7"nLrf}/ ;8s 1,050,000.00

3 8 b+ufnvf]nf df}wf/f ;}gLg]6f ;8s 400,000.00

4 8

zflGt gu/ v8\sf 6f]n ej/vf]nf emfnvf]nf x'b} 6]sg6f/ rfNg]6f/ 

cf]jL ;8s dd{t
300,000.00

5 8 cldNwf/f emflqmyfg ;8s 300,000.00

6 8 alh{jfª g]6f 8f¤8fufpF ;8s 250,000.00

7 8 lzj dlGb/ clwsf/L 6f]n x'b} j'gL kf]v/f ;8s 250,000.00

8 8 v}/]gL wGfrf}/ ;8s 200,000.00

9 8 cGt/ bdf/ tNnf] vGg 3"i7"ª ;8s 500,000.00

10 8
hgtf df=lj= l/ofn] plbk'/ 6f]n x'b} pkNnf] l/ofn] 8f8fufpF ;8s 150,000.00

11 8 jNjLnf k'g6f]nf ;8s 100,000.00

12 8 j/fx yfg b]lv j'GgLkf]v/f ;8s 100,000.00

13 8 g]6f df]8wf/f ;8s 100,000.00

hDdf 4,800,000.00 10.48

1 9
h"*fkf^f cDnL;],*f*fufp,du/L,h"s]gf x"b} :jUf{åf/L df]^/ 

jf^f] of]hgf
2,500,000.00

2 9 ufl&jfª,/fdk"/ l;Dn], nfk], #f]/vGg] df]^/ jf^f] 1,500,000.00

3 9 sflnkf]v/L *f¤*fufp df]^/ jf^f] 500,000.00

4 9 h"*fkf^f gfd|Lsf]^ %]*fkf]v/L k"lGbk w/Dkf df]^/ jf^f] 500,000.00

5 9 lbjfª lbjfªsf]^ k"lGbk w/Dkf df]^/ jf^f] 500,000.00

6 9 w/Dkf sfnLkf]v/L :ju{åf/L df]^/ jf^f] 500,000.00

7 9
h"*fkf^f lbjfª x"b} dfl;{jfª hf]*\g] df]^/ jf^f]         

-xf]d kfOk gfnL lgdf{)f_
300,000.00

8 9 k"lGbk,*f¤*fsf]^/L,wkVff]Nff, sf]b]/L df]^/ jf^f] 300,000.00

9 9 h"*fkf^f v}/]gL df]^/ jf^f] 250,000.00

10 9 h"s]gf l;Dn] #f]/]^f] jf^f] 100,000.00

11 9 %]*fkf]v/f ul*ufp df]^/ jf^f] 75,000.00

hDdf 7,025,000.00 15.33

hDdf 45,810,500.00

j*f 

g+=
ljB"t÷phf{ /sd ?

1
1 s';'08], 3'r{], afsl;ª, sfldrf/ ef]Dkf / h]d'/] ljB't nfOg lj:tf/ 5,000,000.00

2 1 ljB't nfOg lj:tf/ sf]lrjfª / bfjfª\u 1,500,000.00

3 1 ljB't lan / sfof{no 145,000.00

hDdf 6,645,000.00 52.55

1 2 xfDhf ljB"t lj:tf/ cfof]hgf 1,500,000.00

2 2 gof¤ufp ljB"t lj:tf/ cfof]hgf 1,000,000.00

3 2 jfhd ljB"t lj:tf/ cfof]hgf 1,000,000.00

4 2 gf]; ;fljs 7÷8 ljB"t lj:tf/ cfof]hgf 1,000,000.00



5 2 wgjfª ljB"t lj:tf/ cfof]hgf 300,000.00

6 2 cDts ljB"t lj:tf/ cfof]hgf 200,000.00

hDdf 5,000,000.00 39.54

6 laB"t la:tf/ 500,000.00 3.95

8 ljB'tLs/0f -ljB't kf]n tyf tf/ vl/b_ 400,000.00 3.16

9 ;"wfl/osf] r"nf] lgdf{)f 100,000.00 0.79

hDdf 12,645,000.00

qm=;=
j*f 

g+=
l;rfO{ /sd ?

1 s6\6]8fF8f l;rfO{ kf]v/L lgdf{0f cfof]hgf -;Nnfaf]6_ 100,000.00

1 kfvfkfgL l;rfO kf]v/L lgdf{0f cfof]hgf 90,000.00

1 sfe|'l;rfO{ cfof]hgf tkm{ 70,000.00

1 ;fpg] kf]v/L dd{t vfN6] 40,000.00

300,000.00 1.52

2 k"hf? ^f]n l;rfO{ cfof]hgf vfn 200,000.00

2 gofufp &s'/L^f]n l;+rfO{ kf]v/L lgdf{)f 125,000.00

2 gf=;=s] k^"jfvs{df l;rfO{ kfOk 50,000.00

2 em'/jfª ju/ l;rfO{ s"nf] lgdf{)f 50,000.00

2 /fgf^f]n l;rfO{ kf]v/L lgdf{)f 50,000.00

475,000.00 2.41

3

hf/Lvf]nf b]lv ?dfn] hf]8g] df]6/ jf6f] -;fljs le+u[–#,^_l;+rfO{ 

s'nf] dd{t ;d]t
1,700,000.00

3
wgjfª vf]nf 7'nf] s'nf] l;rfO{ lgdf{0f -;fljsle+u[–#,$,%,& / (_ 1,500,000.00

3 3f]/]vf]nf efu|Lefª lsldrf}/ 7'nf] l;rfO{ s'nf] lgdf{0f qmdfut 600,000.00

3  jfx| lj;] l;rfO{ s'nf] dd{t  250,000.00

3

 /fsfjf+ª l;rfO{ kf]v/L lgdf{0f tyf l;rfO{ s'nf]                -

;fljs le+u[ j8f g+= ^_ 
150,000.00

3  jt{g l;rfO{ kf]v/L dd{t -;fljs j8f g= *_ 100,000.00

3 kf}jf kf6f l;+rfO{ kf]v/L lgdf{0f le+u[ ( 50,000.00

3  6fs'/f bb]/L l;rfO{ kf]v/L dd{t le+u[–$ / & 49,000.00

3 tfdwf/f l;+rfO{ kf]v/L cw'/f] lgdf{0f 40,000.00

3 g]jf/] udfn6f]n cfsf;]kfgL kf]v/L cw'/f] lgdf{0f 40,000.00

3  9f8 ;}gLa'6f kf]v/L  j8f g+= % 20,000.00

4,499,000.00 22.84

4 jflemk"/ bdf/ hf]*g] *"* lgdf{)f 1,415,000.00

4 sfukftL tNnf] l;+rfO{ s"nf]dd{t 300,000.00

4 #)^L vf]nf pkNnf] l;rfO{ s"nf] dd{t uf]l&jfª 200,000.00

4 vqL^f]n l;rfO{ kf]v/L dd{t le+u[sf]^ 50,000.00

4 d*L+ l;rfO{ kf]v/L lgdf{)f uf]l&jfª 50,000.00

4 emfn]vf]nf kf]v/L dd{t 50,000.00

4 l/&]vf]nf w}/]gL s"nf] dd{t 50,000.00

4 afem kf]v/L dd{t 25,000.00

2,140,000.00 10.87

5

% g++ j8f sf j:tLx?df /x]sf sf7] 8'8 lj:yflkt u/L kSsL 8'8 

lgdf{0f / /fhfs'nf] Knfi6/ 
1,000,000.00

5 dfps'nf] l;rfO{ of]hgf tNNff ;f/L 1,000,000.00



5 8f¤8fufp l;rfO{ kf]v/L tyf s'nf] dd{t ?= 800,000.00

5 :ofgLn]v l;rfO{ s'nf] tyf kf]v/L lgdf0f{ 600,000.00

5 vf]nfv]t l;rfO{ s'nf] Knfi6/  500,000.00

5 p8\s] l;rfO{ s'nf] Knfi6/ tyf 8'8 lgdf0f{ ?= 350,000.00

5 c;L lj/]jfª / tNNff] lj/]jfª l;rfO{ s'nf] Knfi6/ 250,000.00

5 6f/l9s blnt j:tLdf lnkm\6 l;rfO{ of]hgf 200,000.00

5 k}of vf]nf l;rfO{ s'nf] dd{t 100,000.00

5 emf]n l;rfO{ kf]v/L dd{t ?= 53,000.00

4,853,000.00 24.64

6 % d"/] b]lv /f]Nkf vf]nf ;Dd l;+rfO{ s"nf] Knfi^/ 45,000.00

6 s]k l;+rfO{ kf]v/L dd{t 3 10,000.00

55,000.00 0.28

7 lx+pb] l;+rfO{ s"nf] dd{t -;fljs j]njf; 5 / 6_ 1,000,000.00

7 /flg^f/ lx+pb] l;+rfO{ s"nf] dd{t 6 1,000,000.00

7 cf]wfg]{ l;+rfO{ s"nf] dd{t 8 500,000.00

7
tfkfsf]^ bzkn *f*f l;+rfO{ sf] nflu kfO{k vl/b tyf 

O{G^]s lgdf{)f
350,000.00

7 tfkfsf]^ w}/]lg l;+rfO{ s'nf] Knfi^/ 350,000.00

7 *fa/ kmf+^ tNnf] s"nf] Knfi^/ 5 200,000.00

7
l;+rfO{sf] nflu afx"g^f]nfsf] klSs s'nf] lgdf{)f / df]^/ 

vl/b 7
150,000.00

7
cldnfaf]^ b]lv buf{ ;Ddsf] lx+pb] l;+rfO{ s"nf dd{t, 

Knfi^/ / l;d]G^ *f]+* lgdf{)f
120,000.00

7 vf/vf]nf l;+rfO{ klSs kf]v/L lgdf{)f 5 100,000.00

7 tfkf t]%f]{ s"nf] dd{t tyf Knfi^/ 8 60,000.00

7 p*\s] s"nf] Knfi^/ 60,000.00

7 sf]/dkf^f l;+rfO{ kf]v/L dd{t 6 50,000.00

7
yf]kf l;+rfO{ tyf Knfli^s ^g]n lgdf{)f j*f g++ 7 df 2 

j^f
30,000.00

7 lnkm\^ l;+rfO{ j*f g+= 8 gN;Lsf] kfOk vl/b 20,000.00

7 l;+rfO{sf] nflu df]^/ vl/b 7 20,000.00

7 ;flas a]naf; 7 sf 2 j^f kf]v/L Aoa:yfkg 12,000.00

4,022,000.00 20.42

8 cf]jL lnˆ6Lª l;rfO{ 500,000.00

8 a"8L bdf/ kSsL 8'8 400,000.00

8 alh{jfª ;ftd"n] l;rfO{ s'nf] 250,000.00

8 ej/vf]nf l;+rfO{ kSsL 8'8 250,000.00

8 s'tf dy'/f s'nf] l;rfO{ 200,000.00

8 rfNg]6f/ kf]v/L lgdf{0f 150,000.00

8 bxrf}/ ;ftd'n] l;rfO{ s'nf] kSsL 100,000.00

8 a/kf]v/L kSsL kf]v/L 100,000.00

1,950,000.00 9.90

9 er]gL l;+rfO{ s"nf] of]hgf 800,000.00

9 du/L l;rfO{ s"nf] of]hgf 200,000.00

9 u*]vf]nf nfdfrf}/ l;+rfO{ s"nf] of]hgf 150,000.00

9 lbjfª,lxpb] l;rfO{ s"nf] dd{t of]hgf 150,000.00

9 sfnLkf]v/L Rofgwf/f kf]v/L lgdf{)f 50,000.00



9 w/Dkf %]*fkf]v/L k"g{lgdf{)f of]hgf 50,000.00

1,400,000.00 7.11

hDdf 19,694,000.00

qm=;=
j*f 

g+=
ejg /sd ?

2 cfdf dlxnf ;d"x ejg gofufp 200,000.00

2 vf]ks]Gb| ejg lgdf{)f xfDhf 200,000.00

2 l;kL{ u}/f dlxnf ;d"x ejg zf}rfno lgdf{)f 50,000.00

450,000.00 7.02

3 nfnLu'/f; gfu/Ls ;r]tgf s]Gb| ejg lgdf{0f le+u[–^ 300,000.00

3 r'w/L vf]nf ;fd'bflos ejg lgdf{0f le+u[–& 250,000.00

3 ;fd"bflos ejgsf] k]6L kSsL / lkmN8 dd{t le+u[–# 30,000.00

580,000.00 9.05

4
b"uf{dftf dlxnf jht C)f ;xsf/L ;+:yfsf] ejg lgdf{)f 900,000.00

4 blnt ;+hfn ejg lgdf{)f jflemk"/ 200,000.00

4 hgtf jfn ljsf; s]Gb| dd{t le+u|Lsf]^ 100,000.00

4 le+u[sf]^ ufp#/ lsNgLs ejg lgdf{)f 80,000.00

1,280,000.00 19.97

5  kvf{n lgdf{0f g]=/f=lg=df=lj=vnwf/f ?= 250,000.00

5  kvf{n lgdf{0f p=df=lj=;f/L 6f/l9s ?= 100,000.00

5  kvf{n lgdf{0fg]=/f=lg=df=lj=:oflgn]v ?= 100,000.00

5 b]p3/ gf=;=s] ejg k'0f{ lgdf0f{  ?= 70,000.00

520,000.00 8.11

6 >L em"kfsf]^ k|f=la= eag Knfi^/ 2 150,000.00

6 ckf+u ;]af ;+# Ko'&fgsf] eag lgdf{)f 10,000.00

160,000.00 2.50

7 >L !fgk|sfz eag dd{t 400,000.00

7 >L hgHof]lt k|f=la= eag dd{t / lkmN* lgdf{)f 8 400,000.00

7 lzz":ofxf/ eag dd{t tyf Knfi^/ 7 100,000.00

7 >L afnHof]lt k|f=la= eag Knfi^/ 5 80,000.00

7 >L a]naf; df=la= eag Knfi^/ / rlk{ Aoa:yfkg 7 80,000.00

7 sf]^#/ dlGb/sf] k]l^ dd{t 20,000.00

1,080,000.00 16.85

8 kz[klt dlxnf ;xsf/L ejg 600,000.00

8 ;}lg g]6f k|ltIffno 200,000.00

8 k|ltIffno lgdf{0f rfNg]6f/ 100,000.00

8 k|ltIffno lgdf{0f kNnf] bdf/ kNNf]bdf/ 100,000.00

8 k|ltIffno lgdf{0f tfnkf]v/L 100,000.00

8 k|ltIffno lgdf{0f alh{jfª g]6f 100,000.00

8 :jf:Yo rf}sL ejg dd{t 100,000.00

8 emflqm:yfg dlGb/ Knf:6/ tyf sDkfp08 100,000.00

8 zfGtL gu/ k|ltIffno 50,000.00

8 nfdfrf}/ k|x/L la6 kmlg{r/ 40,000.00

1,490,000.00 23.24

9 h"*fkf^f dlxnf ;fd"bflos ejg zf}rfno 300,000.00

9 r]tgl;n gf=;=s]= ejg dd{t zf}rfno 200,000.00



9 :ju{åf/L gf=;=s]= ejg dd{t-Zff}rfno_ 150,000.00

9 hgsNof)f dlxnf ;fd"bflos ejg zf}rfno 150,000.00

9 nfdfrf}/ c:yfO{ lj^ ejg 50,000.00

850,000.00 13.26

hDdf 6,410,000.00

qm=;=
j*f 

g+=
;"rgf tyf ;~rf/ /sd ?

5 % g++= j8f df OG6/g]6 ;lxtsf] o'jf ;'rgf s]Gb| :yfkgf ?= 150,000.00 88.24

9 ;fp)* l;i^d vl/b 20,000.00 11.76

hDdf 170,000.00

qm=;=
j*f 

g+=
vfg]kfgL /sd ?

1 3'r{] vf=kf= lgdf{0f of]hgf 2,500,000.00

1

bfjfª\u vGgd'gL af6 afx|lj;]6f/ b]lv >L zflGt k|f=lj= j]n6fs'/f 

;Dd vf=kf=
700,000.00

1 /}df vf]nf vf=kf= cfof]hgf 150,000.00

1 6f]l8of/ b]vL j}bf ;Dd vf=kf= cfof]hgf 150,000.00

1 ld;L{ª\u vfg]kfgL dd{t 150,000.00

1 leq]vf]nf vf=kf= cfof]hgf ;s[jfª 100,000.00

1 s'G6]kfgL b]vL :ju{åf/L afnljsf; s]Gb| ;Dd vf=kf= cfof]hgf 100,000.00

1 h]d'/] vf=kf= dd{t cfof]hgf 50,000.00

1 kw]/f vf]nf b]vL vfN6] ;Dd vf=kf= dd{t cfof]hgf 50,000.00

1 wfK;f vf]nf b]vL 3'r{] ;Dd vf=kf= dd{t cfof]hgf 50,000.00

1 wfK;f vf]nf b]vL sfdLrf/ ;Dd vf=kf= dd{t cfof]hgf 50,000.00

1 lt/dL/] vs{ vf=kf= cfof]hgf 50,000.00

1 bf}8hfOwf/f vf=kf= dd{t 50,000.00

1 lgofNgL vf]nf d'n sf]lrjfª vf=kf= dd{t cfof]hgf 40,000.00

1 hOwf/f vf=kf= dd{t cfof]hgf /ksf]6 40,000.00

1 ;Nnfaf]6 lar6f]ndf vf=kf= dd{t 25,000.00

4,255,000.00 36.11

2 em"/jfª vf=kf= lgdf{)f 225,000.00

2 k"/gkfgL ;"ljbx wgjfª 150,000.00

2 c+t"s vf=kf= 100,000.00

2 jfOg]^f vf=kf= ^+sL lgdf{)f 100,000.00

2 jfpg^f]nf vf=kf= lgdf{)f wgjfª 75,000.00

2 jf+uL ;Nnf k"/gkfgL l/h/EjfP/ ^+sL lgdf{)f 50,000.00

2 ;"; kw]/f vf=kf= ^+sL lgdf{)f xfDhf 40,000.00

740,000.00 6.28

3 ltJhLvf]nf  pkNnf] g]jf/] lnkm\6 vfg]kfgL of]hgf 400,000.00

3  wgjfª vf]nf vfg]kfgL dd{t  -;fljs le+u[–$,& / (_ 121,000.00

3
w/dkfgL vf]nf vfgfn 6f]n / /f]sf 6f]n vfg]kfgL dd{t / wf/fyk 100,000.00

621,000.00 5.27

4 jflemk"/ vfg]kfgL dd{t 200,000.00

4 le+u[sf]^ vfg]kfgL dd{t kNnf] d"n 200,000.00

4 a]cf]/] vfg]kfgL dd{t 200,000.00

4 (|*\ofg lnkm\^ vf=kf= of]hgf 150,000.00



4 vfg]kfgL tyf ;/;kmfO{ ;ldtL 50,000.00

4 cdN^f/ vfg]kfgL dd{t 35,000.00

4 #*]/L vfg]kfgL dd{t 30,000.00

4 cf/g^f]n vfg]kfgL dd{t 30,000.00

4 s"jf#f/L vfg]kfgL dd{t le+u[ 30,000.00

925,000.00 7.85

5 g]=jf=vfg]kfgL wf/fdf jfnd}qL wf/f lgdf{0f ?= 250,000.00

5

vfg]kfgL :jf:Yo tyf ;/;kmfO ;ldtL ;f/L j8f g++ % sf] vftfdf 

?=
200,000.00

450,000.00 3.82

6 yfkfvs{ vfg]kfgL dd{t 300,000.00

6 ufp#/ lSnlgs df vfg]kfgL lgdf{)f 4 120,000.00

6 tNnf] lgªnf / pkNnf] lgªnf vfg]kflg dd{t 3 60,000.00

6 s"l^vf]nf vfg]kflg dd{t 3 / 4 50,500.00

6 j*f g+= 4 sf] blnt al:tdf vfg]kflg la:tf/ 48,000.00

6 lalR%nf]^] vfg] kflg lgdf{)f 30,000.00

608,500.00 5.16

7 %]*f dfGb|] e}l;nf]^] efn"vf]nf vfg]kfgL of]hgf lgdf{)f 150,000.00

7 >L hgHof]lt k|f=la=df rlk{ / afnd}qL wf/f lgdf{)f 9 100,000.00

7
wf/faf/L hf}+ ;Nnf vfg]kflg kfO{k vl/b tyf wf/f lgdf{)f 100,000.00

7 ;ftla;] vfg]kflg ^of+ls lgdf{)f 100,000.00

7

a]naf; 7 tfkfsf] vfg]kflgsf] wf/f yk la/kf^f, ;fls{ 

^f]n, afx"g ^f]n vfg]kflgsf] kfO{k vl/b / wf/f lgdf{)f
60,000.00

7
j*f g+= 7 / 8 sf] vfg]kflg dd{t / OG^]s Aoa:yfkg 45,000.00

7 ;l/vf]nf vfg]kflg ^of+ls lgdf{)f 8 pkNnf] glN; 25,000.00

580,000.00 4.92

8 vfg]kfgL dd{t tyf kfO{k vl/b 400,000.00

8 8'x/]vf]nf vf=kf= of]hgf 400,000.00

8 tNnf] df}wf/f 6+sL vf=kf= lgdf{0f 260,000.00

8 rfk z]/ b]lv h}Osf] 3/ 8f8fufp 6\ofª\sL lgdf{0f 250,000.00

1,310,000.00 11.12

9 uh]wf/f vfg]kfgL k"glgdf{)f of]hgf 300,000.00

9 ltNs]gL vfg]kfgL lgdf{)f of]hgf 300,000.00

9 wkvf]nf vfg]kfgL k"glgdf{)f of]hgf 300,000.00

9 j"swf/f vfg]kfgL dd{t of]hgf 300,000.00

9 %fkwf/f vfg]kfgL dd{t of]hgf 200,000.00

9 kNnf] #)^L vf]nf-jfnljsf; ;lxt_ vfg]kfgL of]hgf 150,000.00

9 (f* kf]v/f vfg]kfgL dd{t of]hgf 150,000.00

9 #f]/vGg] vfg]kfgL dd{t of]hgf 150,000.00

9 ;"kvf]nf vfg]kfgL dd{t of]hgf 150,000.00

9 sf]b]/L vfg]kfgL dd{t of]hgf 100,000.00

9 w/Dkf s"jf dd{t of]hgf 60,000.00

9 lbjfª ;fsL{^f]n vfg]kfgL dd{t of]hgf 50,000.00

9 nfdfrf}/ vfg]kfgL dd{t ;+ef/ 40,000.00



9 u*]vf]nf vfg]kfgL dd{t-jfn ljsf; s]Gb|_ of]hgf 25,000.00

9 h"*fkf^f (f* vfg]kfgL dd{t 20,000.00

2,295,000.00 19.47

11,784,500.00

cfly{s ljsf; tkm{

qm=;=
j*f 

g+=
s[lif /sd ?

1

Joj;fo ug{ OR5's s[ifssf]  lgj]bg / k|ltj4tfsf] cfwf/df  

s[lif cf}hf/ nufot  ljpljhg ljt/0f
200,000.00

1 s[lif ag tyf aftfj/0f  ;DjGwL 50,000.00

250,000.00 9.07

2
s[lif jg jftfj/)f ;ldlt cGtu{t cu"jf Joj:ffoLx?sf] 

Joj;flos k|j${g ;xof]u 
150,000.00 5.44

3

 kmnkm"nsf lj?jf dfu j'4lrQ, cfFk, lnrL, jf]wLj[If, ;"Gtnf, 

lnrL, cn}rL,sfutL cflb_ 
50,000.00

3

 k|utL -ldld{/]_ dlxnf s[ifs ;d"x Rofp v]tL ejg dd{t ;fljs 

j8f g+ =$ 
45,000.00

95,000.00 3.45

4 Jojl:yt dfx"/L kfng 500,000.00

4 jf]On/ kfng cg"bfg 200,000.00

4 jbfd v]tL ks]^ If]q :yfkgf 100,000.00

800,000.00 29.03

5

s[lif cf}hf/ ;fdu|L ljt/0f / j8fsf k|To]s j:tLdf bIf k|fljlws 

åf/f s[lif ;DjGwL tfnLdsf] Joj:yf 
200,000.00

5 df}/L kfns pBdLnfO{ k|f]T;fxg tyf gof pBdL ;[hgf 136,000.00

5 knfli6s 6g]n vl/b tyf yf]kf l;rfO{ ?= 80,000.00

5

l6d'/ ;+sng tyf k|zf]wg s]Gb|sf] :yfkgf / l6d'/ pTkfbg If]q 

;+/If0f -;fljs ;f/L * / (_ 
50,000.00

5 emf]n j:tLdf cb'jf v]TfL tflnd / ks]6 If]q 3f]if0ff ?= 25,000.00

5 Rofpv]tL tflnd tyf ljp ljhg vl/b 20,000.00

511,000.00 18.54

6
s[lif tyf kz" b"a} laz]if! $f/f df^f] tyf kz" kl/If)f 

tyf s[ifsnfO{ k|f]T;fxg :j?k 
200,000.00

6
yf]kf l;+rfO{ -;fljs a]naf; j*f g++ 3 / 4_ 10 j^f 35,000.00

6
tfdf cf/g Aoa:yfkg -;flas j]njf; j*f +g+=+ 1 sNn]/L_ 

1 j^f  
35,000.00

6
;"wfl/Psf] cf/g Aoa:yfkg ;flas j]njf; j*f g+=1    -

x"d axfb"/ ;"gf/_ 1 j^f 
25,000.00

6
;"wfl/Psf] cf/g Aoa:yfkg ;flas j]njf; j*f g++ 3    -

;"afg ;"gf/_ 1 j^f  
25,000.00

6
b]p/fnLdf t/sf/L  v]tL pTkfbg s[ifs k|f]T;fxg       -

dg] /f]sf If]qL_
20,000.00

6
df};dL tyf j]df};dL t/sf/L pTkfbg wfgwf/f k|f]T;fxg   -

t]h jxfb"/ #lt{_  
20,000.00

6
cb"jf v]tL tflnd tyf lapljhg vl/b wfgwf/f gf=;=s]=df 

-;fljs j]njf; j*f g+= 1_
20,000.00

380,000.00 13.79

7 *fa/kmf^df a]df};dL t/sf/L v]tLsf] nflu kfOk vl/b 300,000.00



7 ;"wfl/Psf] cf/g Aoa:yfkg -;fljs j*f g+=9_ 1 j^f 20,000.00

320,000.00 11.61

8 df};dL a]df};dL t/sf/L tyf ljp / kmnkm"n pTkfbg sfo{qmd 100,000.00 3.63

9 dfx"/L kfng tflnd 100,000.00

9 Rofp v]tL 50,000.00

150,000.00 5.44

hDdf 2,756,000.00

kz'kG%L

1
vf]/ Joj:yfkg / pGgthftsf] af]sf ljt/0f                   -

% hgf pTs[i6 jfv|f kfns_
400,000.00 32.26

3  esf/f] ;'wf/ tyf lgd{f0f le+u[ 150,000.00 12.10

5 e]6g/L cf}iflw vl/b ?= 150,000.00

5
Jofj;flo afv|f kfngsf] nfuL ljp k'lhsf] ?kdf Jof8 jf]sf 

ljt/0f  
120,000.00

270,000.00 21.77

6 esf/f] ;"wf/ tyf kz" Aoa:yfkg 200,000.00 16.13

7 esf/f] ;"wf/ ldlnh"ln b"Uw Aofa;foL 65,000.00

7 u"?ª kz" lasf; kmd{ lgdf{)f / kz" Aoa:yfkg 20,000.00

85,000.00 6.85

8 kz' 3'DtL lzlj/ sfo{qmd ;+rfng 100,000.00 8.06

9 kz" ;?jf /f]u jfv|fsf] nfuL vf]k sfo{qmd 35,000.00 2.82

hDdf 1,240,000.00

qm=;=
j*f 

g+=
;xsf/L /sd ?

5 v8\s]Zj/L dlxnf jrt tyf C0f ;xsf/L ejg xn lgdf{0f 300,000.00 80.00

6
k~rsGof dlxnf art tyf C)f ;xsf/L ;+:yf sfof{no 

Aoa:yfkg
25,000.00 6.67

7
k~rsGof dlxnf art tyf C)f ;xsf/L ;+:yf sfof{no 

Aoa:yfkg
50,000.00 13.33

375,000.00

qm=;=
j*f 

g+=
/f]huf/ k|a${g /sd ?

3  k|:tfjgf n]vg tflnd 50,000.00

3  o'jfx?sf] nfuL nf]s;]jf cfof]u tof/L sIff ;+rfng 40,000.00

90,000.00 31.58

5 8f«Oleª tflndsf] Joj:yf ;/f]h s[i0f lj=s= 25,000.00 8.77

6

l;$afaf o"af Sna $f/f k|kf]hnsf] cfwf/df o"af nlIft 

:j/f]huf/ d"ns afv|f kfng tflnd 9 j^} j*fdf
70,000.00 24.56

8 ul/j tyf ljkGg ju{sf] nflu l;nfO{ s6fO{ tflnd 100,000.00 35.09

285,000.00

;fdflhs ljsf; tkm{

qm=;=
j*f 

g+=
lzIff /sd ?

1
>L g]=/f=df=lj= sf]lrjfªdf 5fqfjf; lgdf{0f cfof]hgf / dd{t tkm{ 1,000,000.00



1
>L cDj]Zj/L k|f=lj= ?kdf ss{6 kftf v/Lb / 3]/faf/ cfof]hgf 100,000.00

1,100,000.00 19.96

2 jfn ;+:s[t df=lj= w/dkfgL 200,000.00

2 jfn df=lj= vfn #]/fjf/ tkm{ 200,000.00

2 jlnwf/f jfn ljsf; ejg lgdf{)f 200,000.00

600,000.00 10.89

3  :ju{4f/L k|f=jL= 8f8fvs{ kvf{n lgdf{0f  400,000.00 7.26

4 3 j^f k|f=lj=/ 1 lg=df=lj= Joj:yfkg tyf dd{t 400,000.00 7.26

6 >L ;"of]{bo df=la= lkmN* lgdf{)f 3 300,000.00

6
>L l;$afaf k|f=la= eag Knfi^/ tyf afnd}qL wf/f 

#]/faf/ 4
120,000.00

6 >L hgpHhn k|f=la= lkmN* dd{t 1 100,000.00

6
cfly{s ca:yf sdf]hf]/ ePsf laBfly{x? nfO{ z}lIfs ;fdfu|L 

;xof]u
50,000.00

6 ;Nn]/L afnlasf; s]Gb|df afnd}qL wf/f lgdf{)f 1 20,000.00

6 10 sIff plt)f{ pTs[i^ %fq %fqf ;Ddfg k"?:sf/ 10,000.00

600,000.00 10.89

7
cfly{s ca:yf sdfhf]/ ePsf laBfly{x?nfO{ z}lIfs ;fdfu|L 

;xof]u
25,000.00 0.45

8 lzz' sNof0f cfwf/e't bxrf}/sf] jfp08«L lgdf{0f 600,000.00

8 hgtf df=lj= jfp08«L lgdf{0f 400,000.00

8 s}nfz k|f=lj= u?Dk sDkf08 lgdf0f{ 200,000.00

8

:jf:Yo cfdf ;d'x lszf]/Lx?sf nflu k|hgg :jf:Yo tyf kf]if0f 

;DjGwL cled'vLs/0f 
150,000.00

1,350,000.00 24.50

9 ljWofgGb df=lj= ck"/f] kvf{n of]hgf 300,000.00

9 jfnsNof)f k|f=lj= l;Dn] kvf{n 200,000.00

9 %]*fkf]v/f k|f=lj= #]/fjf/ 150,000.00

9 g]=/f= k|f=lj= *f*fufp #]/fjf/ 150,000.00

9 hgtf k|f=lj= sdn kf]v/L #]/fjf/ 150,000.00

9
j*f leq lglh tyf ;fd"bflos ljBfnodf k|yd, åtLo / 

t[tLo ljBfyL{x?nfO{ k"/:sf/sf nfuL ;fdu|L vl/b  
25,000.00

9 jfnljsf; s]Gb|-;Dk")f{_ cfjZos ;fdfu|L vl/b 25,000.00

9 dfOsfyfg gf=;=s]= Joj:yfkg 20,000.00

9
j*f leqsf ;fd"bflos ljBfno, pTs[i^ lzIfs / 

jfnljsf; s]Gb|sf] ;=sf=nfO{ ;Ddfg 
15,000.00

1,035,000.00 18.78

hDdf 5,510,000.00

qm=;=
j*f 

g+=
v]nv"b /sd ?

1 v]ns'b sfo{qmd 100,000.00 6.85

2 o"jf v]ns"b d}bfg lgdf{)f 400,000.00 27.40

4 v]ns"b ljsf; sfo{qmd 50,000.00 3.42

5 jflif{s v]nsf] nfuL cfjZos ;fdu|L / k|ltof]lutf vr{ ?= 50,000.00 3.42

6 v]ns"b d}bfg lgdf{)f lz$yfg 150,000.00 10.27

7 lqms]^ v]nd}bfg lgdf{)f /flg^f/ 400,000.00



7
hghfltx?sf] dfl# ka{df v]ns"b tyf afnd}qL ;"rs 

;d]^\g] ;f+:s[lts sfo{qmd uf=la=;=:t/df
60,000.00

7 v]ns"b d}bfg dd{t 8 50,000.00

7 v]ns"b 20,000.00

530,000.00 36.30

8 hgtf df=lj= v]nd}bfg lgdf{0f 100,000.00

8 v]ns'b sfo{qmd ;+rfng 50,000.00

150,000.00 10.27

9 o"jf v]ns"b ljsf; 30,000.00 2.05

hDdf 1,460,000.00

qm=;=
j*f 

g+=
:jf:Yo tyf ;/;kmfO{ /sd ?

1 ;/;kmfO{ 100,000.00

1 :jf:Yo rf}sL df cf}ifwL v/Lb 50,000.00

150,000.00 4.26

2 ;/;kmfO{ tkm{ 200,000.00

2 ;"/lIft dft[Tj tflnd j:tL:t/ 30,000.00

230,000.00 6.52

3  jf6'n]df ;fj{hlgs zf}rfno tyf k|ltIffno lgdf{0f 150,000.00

3  j8f :t/Lo ;+hfnnfO{ k'0f{ ;/;kmfO{ ;DjGwL cled'vLs/0f 50,000.00

200,000.00 5.67

4 ;fj{hlgs zf}rfno le+u[sf]^ wd{zfnf 300,000.00

4 jfn ljsf; s]Gb| zf}rfno lgdf{)f jflemk"/ 100,000.00

4 ;/;kmfO{ :jR%tf sfo{qmd 80,000.00

4 ;"wfl/osf] r'nf] lgdf{)f 50,000.00

4
Plss[t kf]if)f tyf u")f:t/Lo :jf:Yo ;DjGwL j*f :t/Lo 

tflnd
30,000.00

560,000.00 15.89

5

;fj{hlgs :yn / ;fj{hlgs wf/fx?df kmf]xf]/ kmfNg] vf8n      -

!)) j6f_ lgdf{0f ?=
300,000.00

5

j8f sfof{nodf dlxnf, k'?if cnu cnu / jfnd}qL, ckfªu d}qL 

;]g]6/L Kof8 ;lxtsf]  zf}rfno lgdf{0f 
300,000.00

5

w'jf /lxt j8f 3f]if0ffsf] nfuL cg'udg Pj\d j8f :t/Lo 

hgr]tgf d'ns sfo{qmd 
150,000.00

5 jf6'n]df zf}rfno ;lxtsf] k|ltIffno lgdf{0f 150,000.00

5 k"0f{ ;/;kmfO{ cleofg ;+rfng tflnd / cg'udg 100,000.00

5 :jf:Yo rf}sL ;f/Ldf sDKo'6/ / lk|G6/  v/Lb 75,000.00

5
dxfdf/L tyf b}ljs k|sf]k sf nflu jkm/ :6s cf}ilwsf] Joj:yf 30,000.00

5 k|f=:jf=;] tyf :jf:Yo Joj:yfkg ;ldltsf] j}7s vfhf vr{ 30,000.00

5 ;f;' j'xf/L tyf ue{jtL dlxnfx? ljr cGtlqm{of sfo{qmd 15,000.00

1,150,000.00 32.62

6 Plss[t kf]if)f tyf ;/;kmfO{ tflnd 100,000.00

6
k|hgg\ :jf:Yo , kf]if)f tyf Pr=cfO=le= P*\; ;DalGw 

hgr]tgf tflnd
45,000.00

6 ;/;kmfO{ ;DaGwL tflnd :j=g=kf= 6 g+= j*fdf 40,000.00

6 cf}iflw vl/b a]naf; l:yt :jf:Yo rf}lsdf 35,000.00



6
k")f{ ;/;kmfO{ ;DalGw dlxnf ;zlQms/)f tflnd ;fljs 

j]njf; j*f g+= 1 wfgwf/f / bg]{^f
25,000.00

245,000.00 6.95

7
k|hgg\ :jf:Yo , kf]if)f tyf Pr=cfO=le= P*\; ;DaGwL 

hgr]tgf tflnd
20,000.00

7 ;/;kmfO{ ;DaGwL tflnd 20,000.00

7
Plss[t kf]if)f tyf u")f:t/Lo :jf:Yo ;]af ;DaGwL tflnd 20,000.00

7
x/]s cfdf ;d"xdf kf]lifnf] vfgf k|bzgL tyf kf]if)f lzIff 20,000.00

80,000.00 2.27

8 ljleGg :yfgdf kmf]x/ d}nf Joj:yfkg 50,000.00 1.42

9 k")f ;/;kmfO{ cleofg 500,000.00

9 :jf:Yo rf}sL h"*fk^f kvf{n ;lxt hfnL lgdf{)f 200,000.00

9 k|;"lt Joj:yfkgsf] nfuL ;fdu|L vl/b 100,000.00

9 cf}ifwL vl/b tyf k")f{vf]k lg/Gt/tf 60,000.00

860,000.00 24.40

hDdf 3,575,000.00

qm=;=
j*f 

g+=
n}+lus ;dfgtf tyf ;fdflhs ;"/Iff  /sd ?

1 h]i7 gful/s ;Ddfg sfo{qmd 50,000.00 13.37

2 h]i& gful/s tyf ckf+u ;Ddfg sfo{qmd 80,000.00 21.39

5 h]i7 gful/s ;Ddfg sfo{qmd ?= 25,000.00

5

>Ldfg j]kQf ePsf dlxnfx?nfO{ Psn dlxnf ;/x ;f=;'=eQf sf] 

Joj:yf
24,000.00

49,000.00 13.10

6 80 aif{ dflysf h]i& gful/s ;Ddfg 25,000.00 6.68

7 80 aif{ dflysf h]i& gful/s ;Ddfg 20,000.00 5.35

8 h]i7 gful/s ;Ddfg sfo{qmd 50,000.00 13.37

9 h]i& gfu/LsnfO{ kf]if)f ljt/)f tyf ;Ddfg 100,000.00 26.74

374,000.00

qm=;=
j*f 

g+=
dlxnf tkm{ /sd ?

1 blnt, hghftL / cGo dlxnf nfO{ ;zlQms/0f sfo{qmd 100,000.00 8.10

2 cfdf÷dlxnf ;d'x ejg lgdf{)f xfDhf 200,000.00

2 ;j} j:tLsf dlxnfnfO{ 1.1 j^f :^]«r/ vl/b 75,000.00

2 cfdf÷dlxnf ;d'x n]vf Joj:yfkg tflnd 50,000.00

325,000.00 26.32

3
 j8f :t/Lo ljleGg ;+hfnx?sf] nflu Ifdtf ljsf;  tflnd-

dlxnf,jfnjflnsf blnt,ckf+u, hghftL cfbL _ 
100,000.00

3  l6sL tyf r'/fdf s8fO{ eg]{ tflnd j8f e/df 70,000.00

3  dlxnf ;+hfn k'g{u7g ug]{  40,000.00

210,000.00 17.00

4 dlxnf ;+hfn k"g{u&g tyf Ifdtf ljsf; 40,000.00

4 n}lu+s lx+;f lj?$ 16 lbg] cleofg sfo{qmd 15,000.00

4 dlxnf lbj; sfo{qmd 15,000.00

70,000.00 5.67



5
dlxnf pBdL ;d"xnfO{ cfjZos yk tflnd gof pBdL ;[hgf 

tyf ;fdfu|L sf] Joj:yf ?=
50,000.00

5
l;nfO{ s6fO{ tflnd u/]sfx? nfO{ l/km\/];/ tflnd tyf ;fdfu|L 

ljt/0f  ?=
30,000.00

80,000.00 6.48

6 j*f g+= 6 df l;nfO{ s^fO{ tflnd 60,000.00

6 a"l^s tflnd 50,000.00

6 lth lut k|ltof]lutf 10,000.00

6 n}ªlus lx+;f la?$ 16 lbg] cleofg 5,000.00

125,000.00 10.12

7 a'l^s tflnd 25,000.00

7 lth lut k|ltof]lutf 10,000.00

35,000.00 2.83

9 dlxnf cfo cfh{g tyf Ifdtf ljsf; sfo{qmd  200,000.00

9 ue{jtL dlxnfnfO{ kf]if)f ljt/)f-;"/lIft dft[Tj_ 50,000.00

9 dlxnf :jf:Yo :jo+;]ljsf ;Ddfg 15,000.00

9 dlxnf lbj; 10,000.00

9 dlxnf ;+hfn tyf Ifdtf ljsf; k"g{u&g 10,000.00

9 n}+lus lx+;f lj?$ 16 lbg] cleofg 5,000.00

290,000.00 23.48

hDdf 1,235,000.00

qm=;=
j*f 

g+=
jfnjflnsf tkm{

1 afnljafx Go"lgs/0f ;DjlGw ;r]tgf d'ns sfo{qmd a:tL:t/df 100,000.00

1 ljBfno :t/Locltl/Qm lqmofsnfk 50,000.00

150,000.00 7.47

2 jfn ljjfx Go"lgs/)f cled"lvs/)f sfo{qmd 50,000.00 2.49

3  jfnjfnLsfx?nfO{ jfnd}qL ;DjGwL cWoog cjnf]sg e|d0f 300,000.00

3  cltl/Qm lqmofsnfk ;+rfng ug]{ - ;d'bfo :tl/o jfnSnj_ 45,000.00

3  jfn Snj / jfn ;+hfn lgodLt j}7s Joj:yfkg  30,000.00

3  j8f :tl/o jfn ;+hfn k'g{u7g ug]{ 30,000.00

405,000.00 20.16

4 jfn ljjfx Go"gLs/)f cleofg 40,000.00

4 :yflgo jfnd}qL zf;g ;DjGwL cled"vLs/)f 40,000.00

4 jfnsf]if :yfkgf 25,000.00

4 jfn ;+hfn k"g{u&g tyf Joj:yfkg 25,000.00

4 jfn lbj; 20,000.00

150,000.00 7.47

5 jfn ljsf; gof :yfkgf emf]n,8f8fufp,l;:g]/L j:tLdf ?= 30,000.00 1.49

6 afnd}lq j*f #f]if)ff ug{sf] nflu 250,000.00



6
hghfltx?sf] nf];f/ ka{df / dfl# ka{df v]ns"b tyf 

afnd}qL ;'rs ;d]^\g] ;f+:s[lts sfo{qmd j*f :t/df
100,000.00

6 afnSnax?df v]ns"b ;fdflu| vl/b 65,000.00

6
kf]if)f ;Ktfxsf] ca;/df xflh/ hjfkm k|ltof]lutf afn 

;~hfnåf/f
25,000.00

6 afn ;~hfn a}&s Aoa:yfkg 12,000.00

6
ufp afn ;+/If)f tyf ;Da${g ;ldlt / afnd}qL ;ldltsf] 

a}&s ;~rfng
12,000.00

464,000.00 23.10

7 afnd}lq j*f #f]if)ff ug{sf] nflu 125,000.00

7
kf]if)f ;Ktfxsf] ca;/df xflh/ hjfkm k|ltof]lutf afn 

;~hfn$f/f
15,000.00

7
ufp afn ;+/If)f tyf ;Da${g ;ldlt / afn d}qL ;ldltsf] 

a}&s ;~rfng
10,000.00

7 afn ;~hfn a}&s Aoa:yfkg 10,000.00

160,000.00 7.96

8 zfGtL gu/ jfn p4fg kfs{ 400,000.00 19.91

9 jfn sNa÷afn ;~hfnsf] ;:yfut tyf Ifdtf ljsf; 100,000.00

9 jfnsf]if :yfkgf 25,000.00

9
jfn ljjfx Go"lgs/)fsf] jfnjflnsf / cleefjs ljr 

cGtlqm{of
25,000.00

9
jfnd}qL :yfgLo zf;g ;ldlt / ufp jfn ;+/If)f ;ldlt 

k"g{u&g / Ifdtf ljsf;
20,000.00

9
;d"bfo :t/ / ljBfno :t/sf jfnsNj Joj:yfkg tyf 

Ifdtf ljsf;
20,000.00

9 jfn ;+hfn u&g tyf Idtf ljsf; k"g{u&g 10,000.00

200,000.00 9.96

hDdf 2,009,000.00

qm=;=
j*f 

g+=
k"/ftflTjs k|flrg :df/s Pj+ d&, dlGb/ tkm{ /sd ?

2 dfOsfyfg dlGb/ sDkfp)*Lª tyf kfs{ lgdf{)f 300,000.00 29.41

3  lzj dlGb/ lgdf{0f -;fljs le+u[–&_ 120,000.00

3
le+u[sf]6 v8\s b]jtfsf] cfhfk'hf Joj:yfkgdf  ;xof]u ;fljs 

j8f g= !
20,000.00

140,000.00 13.73

4 j/fxyfg dd{t uf]l&jfª 50,000.00

4 le+u[sf]^ v*\s b]jtfsf] cfhfk"hfdf Joj:yfkg ;xof]u 20,000.00

70,000.00 6.86

5 pkNnf ;f/L bz} sf]6 3/ kvf{n lgdf0{f 200,000.00

5 ;f/L sf]6 bz} sf]6 3/ knfi6/ 50,000.00

5 /ftfdf6f lzj dlGb/df /]lnª lgdf{0f 50,000.00

5 pkNnf ;f/L bz} sf]63/ k"hf Joj:yfkg 50,000.00

5 ;f/L sf]6 bz} sf]6 3/ k'hf Joj:yfkg ?= 15,000.00



365,000.00 35.78

6 sf]^#/ dlGb/sf] k]l^, %fgf dd{t 35,000.00

6 lz$yfg dlGb/ dd{t tyf dlGb/ Aoa:yfkg 30,000.00

6 sf]^#/ k"hf 20,000.00

85,000.00 8.33

7 ;+:s[lt hf]ufpgsf nflu ;+:s[lt k/s sfo{qmd 40,000.00

7 sf]^#/ k"hf 20,000.00

60,000.00 5.88

1,020,000.00

j*f 

g+=
ljQLo Joj:yfkg / z";f;g /sd ?

2 j*fsf] gful/s j*fkq lgdf{)f 30,000.00 13.04

3 rf}dfl;s?kdf ;fj{hlgs ;'g'jfO{ 25,000.00 10.87

4 rf}dfl;s ?kdf ;fj{hlgs ;"gfO{ 25,000.00 10.87

9
pkef]Qmf ;ldltnfO{ lbuf] Joj:yfkg ;DjGwL tflnd, 

;fj{hlgs ;"g"jfO{, cg"udg tyf d"Nofªsg / ;ldIff 
150,000.00 65.22

hDdf 230,000.00

qm=;=
j*f 

g+=
jftfj/)f tyf ljkt\ Joj:yfkg tkm{ /ds ?

2 :ju{åf/L cf>d ;"s]bx pBfg lgdf{)f 400,000.00

2 sflnsf jfn pBfg lgdf{)f 100,000.00

500,000.00 9.38

3  >L hghfu[tL k|f=lj=lsdLrf}/cuf8L vf]nf ;+/If0f 100,000.00

3  ;'wfl/Psf] r'nf] lgdf{0f - j8f e/_ 100,000.00

3 ljkb\ Joj:yfkg ;fpg]vf8f / vf]nfvs{ j[Iff/f]k0f 25,000.00

225,000.00 4.22

4 df]xg vf]nf kw]/L vf]nf (n lgsf; 3,500,000.00

4 l/ª/f]*sf ;xfos gflnx? Joj:yfkg of]hgf 200,000.00

4 ljkt\ Joj:yfkg Go"gLs/)f ;ldlt 200,000.00

3,900,000.00 73.14

5 8x/]vf]nfdf tf/hfnL / x\o'dkfOksf] Joj:yf ?= 200,000.00

5 6f/l9s j/g]/ rf}kf/L lgdf{0f ?= 60,000.00

5 kw]/L vf]nf emf]n d'xfg ;+/If0f ?= 25,000.00

5
o; g=kf= j8f g+ % j:g] /Ld] lu/L nfO{ cf};lw pkrf/ jfkb 

cfyL{s ;xof]u ?=
22,000.00

307,000.00 5.76

6 k"v{ axfb"/ /f]sf / u"dfg lai^ sf] #/ ;+/If)f 50,000.00

6 ;flas a]naf; 4 sf] l/lv/fd sfnfyf]sL sf] #/ ;+/If)f 25,000.00

75,000.00 1.41



8 hfnL t6jGwg sfo{qmd 50,000.00

8 ljkb Joj:yfkg sfo{qmd 50,000.00

8 nf=kf= lgdf{0f 50,000.00

150,000.00 2.81

9 h"s]gf vfN;L hf]lvg Go"lgs/)f -hf]lvd_ 100,000.00

9 ljkt\ Joj:yfkg 50,000.00

9 h"*fkf^f vf]kfleQf j[Iff/f]k)f 25,000.00

175,000.00 3.28

hDdf 5,332,000.00

qm=;=
j*f 

g+=
;+:yfut ljsf; tyf ;]jf k|jfx tkm{ /sd ?

1 k|x/L rf}sL sf]lrjfªdf 38]/L lgdf{0f / hUuf l;dfª\sg 5'6fpg] 400,000.00

1
;/sf/L ;]jf af6 aGrLt ckfª\u x?sf] tYofª\s ;ª\sng / 

;Ddfg sfo{qmd
100,000.00

500,000.00 18.98

2 j*f sfof{no dd{t tyf kmlg{r/ vl/b tkm{ 350,000.00

2 j*fsf] ljsf; cg";Gwfg cWoog cjnf]sg ed|)f 200,000.00

2 e"sDk k|lt/f]lw #/ lgdf{)f *sdL{ tflnd 150,000.00

2 k|x/L rf}sL vfn hgr]tgf d"ns xfl*{ª jf]*{ tyf kmlgr/ 40,000.00

740,000.00 28.08

3 ;/;kmfO{ tkm{ @) k|ltzt jf8jf;l;l; lg0f{ocg';f/ 150,000.00

3 pkef]Qmf ;ldlt cled'lvs/0f 40,000.00

3  ckf+ux?sf] nfuL ;Ddfg sfo{qmd 25,000.00

3  4Gb lkl8tx?sf] nfuL cled'lvs/0f 25,000.00

3
 g]jf/] jt{g nflnu'/f; gf=;= s]= sf] sIff ;+rfngdf ;fdfu|L / 

j}7s Joj:yfkgdf ;xof]u . le+u[–^ / * 
20,000.00

260,000.00 9.87

4 tf/ hfnL vl/b dfu 200,000.00

4 blnt ;+hfn k"g{u&g tyf ;+hfn 50,000.00

4 l;=Pkm=Pn=lh= / le=l;=lk=l;= j}&s Joj:yfkg 40,000.00

4 ckf+u ljWofyL{x?nfO{ :^]zg/L ljt/)f ;xof]u 20,000.00

4  pBf]if)f tflnd ;~rfng 30,000.00

4 blnt ;+hfn g]t[Tj ljsf; 30,000.00

370,000.00 14.04

5 g]=/f=lg=df=lj=:oflgn]v / vnwf/fdf @–@ j6f sDKo"6/sf] dfu ?= 120,000.00

5 j[åfcf>d lgdf0f{ ;'j0f{fjtL uf=kf= j8f g+= @ rt'e'h{ ?= 50,000.00

5 gf=;=s]=Joj:yfkg vr{ ?= 20,000.00

5
g]=/]=;f]= ;f/L pkzfvf sfof{no Joj:yfkg sf nfuL cfjZos 

/sd ?=
10,000.00



5 ckfªusf] cfjZostf tyf cj:yf x]/L ;fdfu|L vl/b ?= 40,000.00

240,000.00 9.11

6

:yflgo lasf; sf]if-ljBfno hg;Dks{ ltldn] jfnljsf; 

b]p/fnL,jfnljsf; s]k df nufgL ug{ ;lsg]%_
60,000.00

6 :^]r/ vl/b 30,000.00

90,000.00 3.42

7 j*fdf /fd|f] sfd ug]{ AolQmx? nfO{ k|f]T;fxg lbg] 30,000.00

7 k"l)f{df d]nfsf nflu ;+:s[lt emNsfpg] sfo{qmd 20,000.00

50,000.00 1.90

8 ckfª\utf Ifdtf ljsf; sfo{qmd 50,000.00 1.90

9 blnt cfo cfh{g tyf Ifdtf ljsf; sfo{qmd 100,000.00

9 hghftL Ifdtf ljsf; sfo{qmd 150,000.00

9
ljleGg ;+hfn k"gu{&g-blnt,hghftL,/ ckf+u_ tyf Ifdtf 

ljsf; 
35,000.00

9 JolQmut #^gf btf{ cleofg 50,000.00

335,000.00 12.71

hDdf 2,635,000.00

s"n hDdf 124,500,000.00


